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In Questions 1-6 find the answers from the 4. DUTU—TERI RS R AU S 7

following terms: (A)celm
(a) FEEHBHER (b) HRE&HIET B)cemp
(c) BEEEHE (d) #EsEam (C)elmgq
(e) ERZESH () SIS D)elq
(9) BERE (h) ER &1y (E)elm
() AEERR () BRI .

(k) 3/ () EEELLHe 5. DUTWF—TERIE R AT e fE 7
(m) E{TEZERE (n) SDLC (g) ‘ E kx
) BT () HiAEl ) daxy
(@) ERP ) AT @ikxy
A N of d chaini (Dyhkxy
(s) VbREAEE (t) forward chaining (E)hkxz
(u) test cases (v) B8
(WRFRE 0 EEK 6. LUTH—EAISHAAR SR 0
(y) SQL (z) rapid prototyping (A)abfw
\ . @ 2 b (B)bdfw

L R —ERIRR SR R B © (©absw
(A)bgijs (D)bfw
(Byabdgs ®)bwz
(Clagjsv ‘

D)bgjsz
E)bjswx In Questions 7-12 find the answers from the
following terms:

2. MU ISR 255 HRE 7 (a) Encryption (b) mobile devices
(A)bdir (c) Switch (d) cloud computing
B)dirt (e) DES (f) remoteserver
(C)dirx {(g) RFID (h) PKI/CA
(D)bdjrt (i) IP camera () QR code
(E)drtuv (k) GPS () Sensors

(m)Trojan horse  {(n) LAN

3. DUTFU—IER 2450 5% s 18ER 7 (0) Mobile App  (p) DNS
(Aychnopuz (q) CMMI (ry NFC
B)chpuxz (s) Data analytics () DFD
(Cyacnou (u) CASE (v) smart phone
(D)bhnopz (w) IP address {x) Hadoop

(y) Router (z) SQL

(E)cdnopu
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software development?
{(Ayequt
(B)hutz
(Cyqutz
(D)oqtz
(E)pqut
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7. Which of the following is most related to 12. Which of the following is most related to Internet

location-based commerce? access?
(A)bcdgov (AYbnpwy
(BYfklor (B)bcnrw
(C)fjko (C)engwy
D)bfopv D)ecnpwy
(Eybfkov (E)ecnpwx
8.  Which of the following is most related to Big
Data? 13. Every information system today should require
(A)dftx users to sign on with a user name and a password.
B)dfsx In this case, which of the following functions is
(Cydflx I(er)fon?hed by the user's password?
authentication
(g)? sxz (B) identification
(E)fsuz (C) decryption
: _ : (D) encryption
9.  Which ones are input technologies? (E) none of the above
(A)ygijlr
(B)fijl 14. The source, format, assumptions and constraints,
(C)gijr and other facts concerning certaindata are called
(D)dgijr S
E)dgir (A) metadata
(B) data structures
10. Which of the following is most related t () microdata
a : ich of the fo olrlgng is most related to (D) network packets
information security” (E) vague data
(A)aechm
(B)aehmx . 15. Which of the following is true of browser-based
(Caemx database applications?
(D)emrt (A) They are written in object-oriented languages
(E)ehmz such as Structured Query Language.
(B) The application, database management system
11. Which of the following is most related to (DBMS), and the database reside on the user's

computer.

(C) They are displayed and processed using html,
html5, or css3.

(D) They use R as the standard language for user-
side processing.

(E) They differ from traditional applications in that
they fail to support graphical queries.
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information systems?

(A) They can be bought off the shelf.

(B) They are a group of components that
produce information.

(C) They drive the development of information
technology.

(D) They are not susceptible to the changing
needs of the market.

(E) It is the same as 1nformation technology.

17. Data Systems, a leading [T firm in Taiwan,
develops a customized software to meet the
needs of its customers in the mechanical parts
industry. In this case, this software is referred to
as
(A)a vertlcal market application software 21
(B) a horizontal-market application software
(C) an open source software
(D) an application simulation software
(E) a one-of-a-kind application software

18. Which of the following is likely to be a
consequence of cloud computing in the future?

(A) The preference to set up one’s own
computing infrastructure will increase
among organizations.

(B) The cost of obtaining elastic resources will
decrease.

(C) The demand for employees who know how
to use and manage information systems will
reduce.

(D) The number of technology-based startups
will stagnate.

(E) Cloud computing can enable organizations to
readily obtain elastic resources at very high
costs,

19. The phenomenon in which the variability in the

up the supply chain is referred to as the
(A) synergistic effect

(B) flanging effect

(C) stack effect

(D) network effect

(E) bullwhip effect

22.

size and timing of orders increases at each stage | 23.

16. Which of the following statements is true about | 20. Which of the following statements is a

characteristic of social media (SM) user
communities?

(A) SM user communities are mosily based on
geographic and familial ties.

(B) Most users of SM belong to several different
user communities.

(C) In community SM site relationships, the
relationships in second-tier communities are
disassociated from first-tier users.

(D) A viral hook is an inducement to constrain
comimunications between user communities.

(E) SM communities differ from regular
communities because they are based only on
organizational boundaries.

. Which of the following statements is true of

information systems?

(A) They are off-the-shelf software without
adaptation.

(B) They can be adapted to fit business needs.

(C) They can be purchased as off-the-shelf
software.

(D) They cannot be tailor-made.

(E) They are Internet-based.

Which of the following is necessary for a

collaboration to be successful?

{A) Members should resist putting forward
unpopular ideas.

(B) Members should avoid entering into difficult
conversations.

(C) Members should provide and receive critical
feedback.

(D) Members should be very polite and not say
anything critical.

(E) None of the above.

Which of the following is not the characteristic of
platform strategy?

(A) value chain

(B) competitions among industries

(C) network externality

(D} winner takes all

(E) enveloping
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24. Which of the following is true of quality mobile | 28. Which of the following is an example of a measure
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user experiences?

(A) Users' content must occupy limited display
space on mobile systems.

(B) Use of content to drive application behavior
is called indirect interaction.

(C) Applications must be designed to one scale,
so that they fit one particular display
appropriately.

(D) Power usage on mobile devices can be 29,

minimized by moving complex code to
cloud servers.

(E) The advantages of using the HTML4 version
of Web application are the support for
graphics, animation, 2D animations, and
other sophisticated user experiences.

Which of the statements defines an IP address?

(A) a protocol that specifies the format of Web
pages.

(B) a number that identifies a particular device.

(C) a piece of message handled by programs that
implement Internet protocol.

(D) a program that breaks up network traffic into
pieces before transmission. 20

(E) its usage is limited to the public Intemet.

Which of the following aspects that impact
enterprise resource planning (ERP) differs
among companies of different sizes?

(A) relevance of ERP systems

(B) value chains

(C) availability of skilled IT staff

(D) basic business processes

(E) none of above

Which of the following marketing techniques
refers to the application of business intelligence
systems to the planning and execution of
marketing programs?

(A) ambush marketing

(B) viral marketing

(C) database marketing

(D) guerrilla marketing

(E) word of mouth marketing

. Which of the following development

31

in an online analytical processing (OLAP) report?
(A) sales region

(B) average cost

(C) customer location

(D) customer type

(E) purchase date

Which of the following is true if the development

group of a company's information systems (IS)

department is staffed primarily by programmers,

test engineers, technical writers, and other

development personnel?

{A) The company develops programs in-house.

(B) The company has a separate department for
data warehousing.

(C) The company has security issues with the
department.

(D) The company contracts work to other
companies.

(E) The company uses crowdsourcing services.

methodologies is associated with the scrum
process?

(A) RUP

(B) systems development life cycle

(C) V-Model

(D) rapid application development

(E) agiie development

How has the global economy changed the

competitive environment?

(A) Suppliers are not required to reach a wide range
of customers.

(B} Customers now have less access to information
about substitutes.

(C) It has intensified rivalry by mcreasing product
and vendor choices.

(D) It has made it easier for new market entrants in
all fields to penetrate the market.

(E) It reduces the risk that a company has to bear,
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32. Which of the following steps is the most

33.

34

35.

appropriate if a company decides to accept more

risk and sell to companies with lower credit

scores?

(A) modifying the credit checking process

(B) implementing different ways of checking
credit

(C) approving special terms before checking the
credit

(D) shipping the inventory directly from the
manufacturer to lower the credit

(E) aligning the processes with organizational
goals.

The move of retail banking to use ATMs after
Citibank unveiled its first ATMs illustrates the
use of information systerns to achieyve which
business objective?

(A) operational excellence

(B) customer and supplier intimacy

(C) competitive advantage

(D) improved efficiency

(E) survival

Which of the following is the first step in

developing a social media information system

(SMIS)?

{A) Define what the organization wants to
achieve with social media.

(B) Identify metrics that will indicate whether an
organization has achieved its goals.

(C) Maximize metrics like conversion rate and
bounce rate.

(D) Identify the organization's target audience.

(E) Indicate whether an organization has
achieved its goals.

Vortal fE5RYZER—HE 7

(A) BEMHEIYA OIS

(B) voice portal AYE &

(C) virtual portal AYE &

(D) voice operated SEfFERY—FE
(B) HEF=R

36. HERETRBHERLL » W—IHRFERE?

(A) HRN B EREWE X ZBEORE
I EERES

(B) B2CHVERAZ Z & 5H= 1 B2B

(C) EF{Hl PC Home BIEHMERESZ
B2B2C

D) BEF BN E— (B R RE

(E) THEBEEFREEEEN R

37. BEFAER LR — R e ?

(A) MEFTERESAN - ALERELRS
EFERAF N T T

(B) HELPBENL - BERBALGHRE
HIFCHEE TR LR

(C) BLIERFEAMMETNEE LT

D) BIREEENEMAYIRN

(B) BIREE DENEAET

38. DAUM I — TR A S ST 52 2 SRR 7

(A) FEEHEME

(B HEATEHE

(C) “what if” analysis
D) MBI E

(B) HEsmigdl

39. AEE ERP SR —TEm A IRE ?

(A) ERP EHEELEMFEAL I ARG
B) BYSRIHE FRE

(C) ERP Z&UBEAREE SRR I
(D) TaeEagstEE

(B) RBBELHH—IE

40. TAP FOURf—TEE-AFERE 7

(A) REWAE
(B) B TFE
(C) EEcBER
(D) EEESHE
(E) 178 App
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41. LI —EFELFEHENTIE? 46. ATM WYEA(RRK THRITRLHE - RT ¢
(A) ER 5% | (A) BBEEHHEEH
(B) ERIfE (B) SRATHRHVEEE
(C) CASE (C) BEIRfTHIARTS
(D)} ERP (D) FECR{EABRRRL
(E) pseudo-code (E) =ENEH
42, PN A RAMEEEFLEFRVERYE - W—ER-T 1R 47. TE&GFESET - CASERILUTIH—THAERR 7
FEE 7 (A) EREB T2
(A) FB BE—(EHL AERHNTEEEY— (B) ZEHREE
(B) AEMGERIEEARTERANS (C) #4fF DFD, ERD 5 use-case
(C) R FERET L HRREILRE (D) structured English
(D) FEITHREREN—E (E) ST H

(B) MERSIERERESR - TEEHNERE
48. DA —TER L E e SR B SR R SRS

43, DUTH—IEMEN T2 EmeN 7 REHIRE (2
(&) &S (A) EfREERERESRTE
(B) & (B) Eifl&&ria{b T EREE
(©) KPI | (C) EiNALNK: T boundary spanningZEsK
(D) DES (D) &R RS T EfEa SR
(B) ol EREHEREI B) EAGEL L SMASEEREH
44. CRM FID{NE—IES0HRAG 7 49. DATFUi—TEfIE s imEE A A 7
(A) AEINIFTRER (A) EAIEFRLE
(B) ATRIBLIESR B) BEFRIETENE
(C) BEEr (C) s
(D) sHENBEIE (D) ERELRE
(B) JHE{TRIVEREEE) ' (E) Erligfilie
45. LITAEFRE 1T SEFIRVBRIRE—IaE A A7 50. DAFHF—IEF BIMEEEARE 7
(A) IT RFIRETSeRE &aErrT (A) ATHEEEE RN
B)IT FPIEEFEZ AT CFo (B) AEHEEAE » MEEEER
(C) E—ibfp32ay 1T HriR—aENr (C) FHEEHCHEERIESME B £
(DYIT ZRFITEE S A\ 5 PEpavELE (D) BIiCiBEeymE R EFEAEE

(B)IT HEe2—EREHTHEN B) AEEEREERER]




